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Errata
25 STPM A 12.2 N at 48* below the x-axis A 8.3 N at 15° above the x-axis
Practice 1 B 12.2 N at 42° above the x-axis B 8.3 N at 15° below the x-axis
Qs 4
30 - Answer 4. A:x-component, F =5.0+6.0sin30°N=9.0N A
31 STPM y-component, F =-3.0+60c0530:N=22N x-component, F, = 5.0 + 6.0sin30° = 8.0 N
Practice 1 ’ y-component, F, = —3.0 4+ 6.0cos30° = 2.2 N
A 997 r Ty
No. 4 Resultant force, F=V3.0°+ 22 N =93 N Resultant force,
tan (%) = 14 above x-axis F =48.02+2.22=83N
' 2.2
0 =tan™?! (—) = 15°
- i " (8o
H =511 :
58 Answer (© (@ H=2'Dm=T (i) H=20="Y szm 0 ]
STPM 17sin2f u? gin 20  2u?sinfcos@
Practice 1 R=20m=—— R=220= PR p .. [2]
Solving, # =103 and u=35m s
No. 10 mgﬂ M. tane =2 9 = 20°
@) T= m:o.s g - 0.645 2 o 24/g
- From[1],u = — =183 ms™!
220 sin 20
(ii) T = — =1.28s
ucos 20°
58 Answers (a) 140 m s at 19° to the horizontal (a) 203 m stat 81.7° to the horizontal
Practice 2
No. 12




58

Answer
STPM
Practice 1
No. 14

(b) (@

OA — constant acceleration
AB - constant deceleration
BC — constant acceleration

OA:

Trolley accelerates down the incline

AB:

A to t-axis: As the spring is compressed the trolley decelerates

t-axis to B: As the spring extends, the trolley accelerates up the incline
BC:

After the spring is fully extended, the trolley decelerates until v = 0.




